expr

Residuals

YIStandardized residuals|

2e-05 4e-05 6e-05

0e+00

0e+00 2e-05 4e-05 6e-05

Linear Regression model on [ Im(Mutation rate ~ Age) ]

— Linear regression fitting line

Residuals vs Fitted

4370

0295 o312
0—20-20200006080800c0080s00s08005000-

| |
-5e-07 0e+00

T
5e-07

Fitted values

Scale-Location

T
1e-06

4370

5e-07

Fitted values

Standardized residuals

Standardized residuals

15 20

10

15 20

10

Normal Q-Q

4370

-3 -2 -1 0 3
Theoretical Quantiles
Residuals vs Leverage
\ N
\\ N N 4370
N \ h AN
N ~ -
N S o
— N ~ =~ -~ -
Q9285
- - - 2 © ©
e i o A AU
1 T T T T
0.000 0.005 0.010 0.015 0.020

Leverage

0.5



